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The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 7 in Section A are two marks questions. These are
to be answered in about 30 words each.

Question numbers 8 to 19 in Section A are three marks questions. These
are to be answered in about 50 words each.

Question numbers 20 to 24 in Section A are five marks questions. These -
are to be answered in about 70 words each.

Question numbers 25 to 42 in Section B are multiple choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.
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SECTION A

1. feefen g Frefi st agg % @ R R
) o OH
(i) —(”3—
0

- Name the functional group represented by the following :
1) - OH
o ("J =
0]

2. foet goo & faftm woni &t frafafes =t & @ = S *6t wg=nfg @
forfem - 1
afdsn, aERd, WETHN, Ygel, wiwis, g
Identify and write the male reproductive parts from the list of different

parts of a flower given below :
stigma, sepal, anther, petal, ovule, filament

3. 36 WA % Eed F A yeud: Iaer Aifen % agg % am fafa | 1
Name the group of compounds which is mainly responsible for the
: “depletion of ozone layer.
4. ISR qU1 U e o e g 1 T Seew et fofau | it iy
~ Write a difference between inherited traits and acciuired traits giving o_né :
example of each.

5. g A1 9 & U uFdIS HEA: 1-5 a9 1-33 | 396 ¥ fRg wem
ThTR 1 AT MU & ? I G WIEHHI H Y I Al % HAIA i TRepferd
Hifo | - 2
The absolute refractive indices of glass and water are 1-5 and 1-33
respectively. In which medium does light travel faster ? Calculate the

~ ratio of speeds of light in the two media.

314 3 _ P.FO;




.7.

%mmnﬂ@wﬁﬁﬁwwﬁﬁamﬁvﬁeﬁmﬂ@wﬁf
IS T ITRTRTIET shi fEfd 1 3g@ HiwT |

What does a trophic level represent in a food chain ? State the posmon of
autctrophs and herbivores in a food chain.

“ @ TER T D D WY 25, TR i H R T D T
39 %A &I I & foru @ Fwen H gEh s | '

- “Monoculture of a particular type of trees is no substitute for natural

10.

11.

3111

forests.” List two reasons to justify this statement.

M%wmé9&ﬁm%9mmmwﬁﬁql
TR % 1 AN <ht FE SIS |

What are esters ? How are they formed ? Illustrate with the help of a
chemical equation. List two uses of esters.

HEHAS IMEY F1 B & 2 WA I seiegq-fag HwE A gEwdr °
LT HT FAT ST | HEEANIh Al AHT=a: ﬁga%awmﬁ@%
% ?

What are covalent bonds ? Show their formation with the help of electron
dot structure of methane. Why are covalent compounds generally poor
conductors of electricity ?

ai i YR MEd ARt § TEl 3R TEdl i & H Ig@ hIT |
=l I HEE (i) g 3 (ii) 3MEd ¥ W H Avevs fofEn 13@35%@1%
1T T SR 24 g AT I T HIC |

State the number of groups and periods in the modern periodic table of
elements. Mention the criteria for placing elements in the same (i) group
and (ii) period. Illustrate your answer with an example for each case.

IS T X’ Y Med FROM < it e a0 Fow g R | W it
@ X (i) ¥ TASThdl ST hl T (i) I GASThdl, qAT (m)mg%m'_
HAATG | IS TR H IR hl HRY digaq I FHf |

An element X’ belongs to the third period and group-one of the modern

periodic table. Find (i) the number of its valence electrons (ii) its valency,
and (ii1)) whether X’ is a metal or a non-metal. State reason to justify your
answer in each case.




12. “foreft wufy & wfielis i sowifaar A e & oo oftear et & 17
Tortft 3t Sergtur &1 TEEdT ¥ 36 U I SUEd hifu | 3

“Variation is useful in a population for the survival of the species over
time.” With the help of a suitable example, explain the statement.

13. @E Hifsw % amat b, aﬂgﬂﬁmgﬁ%ﬁr&g%%ﬂ%%ﬂqﬁmmﬁm
Ioerl BT 8, "Il Iviert T8 st | 3

Explain how the father, not the mother, is genetically responsible for the
sex of a child in humans.

14, Shameg 71 § 2 fawm F Jemm 3 frg R geRaT @ § 2 3
What are fossils ? How do they help in the study of evolution ?

15. (a) ied 3 o9 A § o wet % Wi o we % el % gy ge
HAT | Fy a0 F, difeai & 39 Jeqon =1 swror fafau |

(b) Wi F TR % Al el o= T TowiEt (fowedt) @Eon w5
3g@ HIfTT et swm fewt 4 39 7e & el % qY T S §
foma o | 3

(@) Mendel crossed tall pea plants with dwarf pea plants in his
experiment. Write his observations, giving reasons of F; and Fq

progeny.

(b) Mention any two contrasting characters other than height that
- Mendel used in his experiments in pea plants.

16. mmwﬁmmmwaﬁ%mmm@ﬁq
Seifer ot 3taae o W mmfad e 360 (i) w9 % e 18 % TN B,
(ii) G % T g T ToR W 8 3N (iii) A9 F T&T BIhg hl 3R 71 &
g1 3

Draw ray diagram to show the path of the refracted ray in each of the

following cases. A ray of light incident on a concave lens (i) is parallel to

its principal axis, (ii) is passing through its optical centre and (iii) is
directed towards its principal focus.

17. 15 cm %8 g % I QU0 % J&F A& % @ead q90 § 20 cm G W @
foreft forrar % wfafera &1 strads wfiewfera i | 3

Calculate the magnification of the image of an object placed
perpendicular to the principal axis of a convex mirror of focal length
15 cm, if the object is at a distance of 20 cm from the mirror.

31/1/1 5 ' PiT©:




18.

19.

20.

3111

Mg 93 & EAfafiad I 97 & S $1 3g@ S :

()  HIHE (FEeoHsd)

(i)  gfariERT

(if) gadt |

forerrasiiar 29T & YT 3.5 RS SARh Hi-aT-31gar 4 difed & | 12 99§ 4 +A
Y & AT 30 ARG T Dl AAGH R TTH HI-AT o TARMNY F 3t fema

ST HehdT 8 | SATYShI Y HT i3 foemefi 107 UgE & AN ° 39 929 % fawy
T IRTEhdT 34 HA & AT FI1 IS ¢ Thall 3 AR =T 2

State the function of each of the following parts of human eye :

1) Cornea
(1) Iris
(iii) Pupil

About 3-5 crore people in the developing world are corneal blind. About
30 lac blind children below the age of 12 can be cured by replacing the
defective cornea with the cornea of a donated eye. What can a student of
your age do in order to create awareness about this fact among people of
your locality and why ?

A% 1 Th Qe o oig-efetolig qen sroie- i qqrel & =
faver #ifvm | iR i e Radt o7+ & fou ot 7 @ oTeat |
aftada it gt s 5= 31 3rwe onte- sl swfsrst & fvem @ &
I |

Differentiate between biodegradable and non-biodegradable substances
by taking an example of each. List two changes that you would adopt for
the disposal of non-biodegradable waste to become more environment
friendly.

BISSIIe 1 8 ? Uoohd &1 Uoshd & fasied HIfS qon 330 T &1 Ueoplsd
Y Th-Th I o fadigd Al | e fGu T gedsh Aiffies A wre
TuIieRt 3 IR 1 g i |

What are hydrocarbons ? Distinguish alkanes from alkenes and each of
them from alkynes with the help of one example of each. Draw the
structure of each compound cited as example to justify your answer.

l




21.

22.

31111

T 1 At qen e e & @ ol B gt SEe | EEer it 9
FA F Al oty &1 9w fafge i sm@l h ggEar 4 sEhl =
i | 5

List two differences between sexual and asexual modes of reproduction.
Name the process by which Hydra reproduces asexually and explain the
process with the help of diagrams.

() %ﬁﬁ%ﬁwwmm|

b W i 2eh % R R i ) il % e
iy | iR W ) i B -

()  afdem
G) T IwEH
(i) TR I
(iv) ITUSHM
(v)  dfdel
(vi)  OUAT et
(© - Torsft gou ® fAd=m 1 T 9T 3T IE F1 3Z@ HIT | 5

(a) Give an example of a bisexual flower.

(b) Draw a longitudinal section of a pistil showing the germination of
pollen grains. Label the following parts :

(1) Stigma

(i1) Male germ cell
(i) Female germ cell
(iv) Ovary

(v)  Style

(vi) - Pollen tube

()  Mention the site and the product of fertilization in a flower.

T P.T.O.
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23. (a)
(b)
(a)
(b)
31/1/1

+ig & fordt sy w smmafaa wwranfl gerer 6 foret o AO & ant i
It IR gferehT W gwisy qen fomem-win 1 3ifa i |
B

g AO ¥ad Wehrsr st fohtom &1, al

() 9vF Hife S fsm & 99 W@ 9 BC W A9 =1 J&01 HT ?
(i) 38 gftee w1 9 fafe |

(iii) 39 URERAT 1 SR fARay |

(iv) 3HY 394 JHIY & 92H & 9N H w1 Hg A ® ?

Trace on your answer sheet the path of a monochromatic ray AO
incident on a glass prism and mark the angle of deviation.

B

If AO were a ray of white light,

(1) describe what will you observe on the screen BC placed near
the prism. .

(11)  write the name of this phenomenon.
(iii) state the cause of this phenomenon.

(iv) what does it prove about the constituents of white light ?

8




24, e 2w 3 wawn 3 e wa 1 e e -

@)
()
©
@

ga
EESIRERR)
&g A
T BIFHd

T AT 319 20 em BIHH G & Hadel JUU H1 I Hih (HA1 HFal I
SaTel & HiY wiafers w1 Y@w F e § | 39 O g § Awecht Hi
e shl gl o URE 1 Ig@ HINC | fE@ gfdfers % =7 q1 Al hi
= ST | 39 TR § Sfafers sHAT guiA o e s o st Eife | 5

Define the following terms in case of a concave mirror :

(@)
(b)
(©
(d)

Pole -
Radius of curvature
Principal axis -

Principal focus

Suppose you want to observe an erect image of a candle flame using a
concave mirror of focal length 20 cm. State the range of distance of the
candle flame from the mirror. List two other characteristics of the

observed image. Draw a ray diagram to show the formation of image in
this case.

"
SECTION B

25.-aﬁ§ﬁmﬁ@q@qﬁﬂﬁ5mLﬁmmﬁaﬂmwwﬁw
feamiz |1As@ @A _ 1

(A)
(B)
©
(D)

g 3111

T W faewm

gftrn faerm

3 I WA % SR A hl T T
I I TWa & SR A Fl T T
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A student adds some water to 5 mL of ethanoic acid taken in a test tube
and shakes it. He gets ' :

(A) a clear solution

- (B)  a milky solution

26.

(C) alayer of water over a layer of acid
(D) alayer of acid over a layer of water

ve i3 faaneff u qrEaelt § WATss o o 38H $8 NaHCO, fiem 8,

27.

A)  H rfufshan TE Bt 2
B) oo gt & S @
() T8 % guee Frekerd &
D) & T H Ay Frewerd @

When a student adds NaHCOg3 to some ethanoic acid taken in a test tube,
he observes '

(A) no reaction taking place

(B) a milky solution |

(C) effervescence of a gés

(D) green coloured vapours

el I JAITEIET ® "ieH sAH & fo e 8 9 feae swam 787
STar ? _ .

(A WE R ad (hE 3ATE)

(B) TIIA HT de (bl 375

©) @ da

3111

(D) HIE & sl I da (feder 1 )

Which of the following is not used for preparing soap in a school
laboratory ? :

(A) Castor oil

(B) Coconut oil

(C) Mineral oil

(D) Cottonseed oil

10
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28. 3N (U TR ® "eH s % fore Fefafes wreat § @ former v
Hd B ? 1

@A) wifean TGS
(B) AfifEm FEglaEEe
(C) hicam EregieaEs
D) Wfsam FEHe

Which of the following chemicals do you use for preparing soap in your
laboratory ?

(A)  Sodium hydroxide

(B) Magnesium hydroxide

(C) Calcium hydroxide

(D) Sodium carbonate

29, IS B 25 mL giar i P, Q, R @1 S 3ifhd IR WaEHeEdl § s A
5 mL 3gd I oId1 2 | 98 W@l P H NaCl, Q§ CaCly, R § MgCl, e
S # KCl 9ieidl 8 | 9o U¥aTd, 98 390 QU ¢ |IgH & ©id % T3 I FHH
AT e I WEae! B THHE &9 9 fEerar 8 | 3 v | 38 fE

TEATl | 3= @1 e TeRd 8, 39 W 2Afha 2 1
@ PaQ |

B) Q9R

(C) R3S

D) PIS

A student takes 5 mL distilled water in four test tubes each of 25 mL
capacity marked as P, Q, R and S. He dissolves NaCl in P, CaCl, in Q,
MgClz' in R and KCl in S. He then adds an equal amount of a sample soap
solution to each test tube. On shaking the test tubes equally, he is likely
to observe good lather in the test tubes marked

(A) PandQ
B) QandR
(C) RandS
D) PandS
31/1/1 11 P.T.O.




30. 3IT@ W Hl BHE gt T F & g, oy fw vfdfers A € W W FA

FT YA Hd 8 98 BT I11eC fore & gy
A) i 3R BT
B) Hiur AR w1

(C) 3 AR §e&T
(D) 3% IR 9gad B

While determining the focal length of a convex lens, the image of the
object you try to obtain on the screen must be :

(A) erect and diminished

(B) erect and magnified

(C) inverted and magnified

(D) inverted and highly diminished

31. I79ad YU H BIHA G [G HA & ¢ g fonei P wawEnen i Ragdhr
1 gfdfers 96 W o711 @ | ‘Q Ragehl & v forelt 9@ =1 wfafers saman 3
R R g w1 fog widfers o w swman & | 3 @ fFwes grn ww wieE gl
1 7 s qitgg & 2

@A P
B) Q
© R

(D) @t a9H ¥ @ IR g | a%g i [ufa @ SE o Al usar |

While determining the focal length of a concave mirror, a student P’
obtains the image of the window of the laboratory, ‘Q’, that of a tree
outside the window and ‘R’ the point image of the Sun. Who gets the more
accurate value of the focal length ? '

@ P
® Q
© R

(D) All equally accurate. Location of the object makes no difference.

3111 ' 12




32. WG F ANAHR T ¥ FH oA arelt Jeh it fRor & Arl 1 s

HQ T A T a1 A T % e i emet gl B =i 1
(A) 2-4cm el
(B) 3-5cm
(C) 6-8cm

D) 12-15cm

While tracing the path of a ray of light through a rectangular glass slab,
the ideal distance between the two pins to be fixed should be

(A) 2-4cm
B) 3-5cm
(C) 6-8cm

D) 12-15cm

33. =R faenfdai P, Q Raw S, 3 w9 & fordfi =9 T 40° F HU W 3mufea
R TR aell TR Rl T RO % oam @ sg@w fe sk
frfasior (L e) it A &t | 376 gra T Ffa-wIT (£ e) % A wEW: 399

30°; 85° AT 45° & | TS/ BT 3 AT I T wE & @ b, @ R 1
@A) P ' -

® Q

C) R

® s

Four students P, Q, R and S, traced the path of a ray of light passing
through a glass slab for an angle of incidence 40° and measured the angle
of emergence (£ e). The values of £ e obtained by them were 39°; 30°; 35°
and 45° respectively. Who performed the experiment correctly ?

@A) P
B Q
© R
@) S
31/1/1 13 s P.T.O.




34. w9 & fFE fow @ o oA arelt g At T RO & Ant @
HH F UvErl Uh fqenefi, Su@E-Em  (£i), SWEAHIT (L),
ffa-sur (£ e) @ famem-+IwT (£ D) *t 3@ ¥ @ ER 3ifha Fa
2 | 3T g Tl ifeha i &

(A Zid"iLr

B) «ZidAZLe

(C) Zi, Zram«£D

D) ZLed@AqM«D

The angles of incidence (£ i), refraction (£ r), emergence (£ e) and
deviation (£ D) marked by a student after tracing the path of a ray of
light through a glass prism are shown in the figure. The correctly marked
angles are

A ZLiandZr
(B) ZLiandZe
© ZiZLrandZD
D) ZLeand 4D

31/1/1 14




35.

36.

31/1/1

mﬁa%%&ﬂﬁ@r@mtﬁﬁaﬁrmﬁwﬁw%wéﬁra@@ﬁ
w@%smmmm%mmaﬁ b 1

A) 10°920°% &=
(B) 20°F 30° % =
(C) 35°F60° % &
D) 55°d70° % &=

You are tracing the path of a ray of light passing through a glass prism.
The ideal angles of incidence would be between

(A) 10°and 20°
(B) 20° and 30°
(C) . 35°and 60°
(D) 55°and 70°

1§ Rreeff e i R Feh Recht g 1 Reeht v a3 T T 2 o
3% wfafera 1 Yo = ufafers & 1 RRO ate, ¥87 eviy e
AT 2 |

-

-
~~~~~~~
~ -

ﬁﬁﬁam&&#sﬂ%g@a&wma@gﬁ@rﬁmm%? ' 4
(A) " F F; T THIH g o ol & e -
B) TEHF,d2F, =
(C) <E®2F, § M
D) «EH2F; |
15 - . ' _b.T.o.




A student places an arrow-like object in front of a convex lens, observes
its image and draws a ray diagram to show the image formation as

shown in the figure.
oo

What is the position of the object with respect to the lens on its principal
axis ? ; '

(A) Between F, and optical centre of the lens

(B) Between Fy and 2F of the lens

(C). Beyond 2F, of the lens

(D) At 2F; of the lens

37. IO 9T g 99 ifam 1 R 9 w9 F e fE R T 3w g
ARE ! qgaTT & T & A9adq & el &1 oo S gL e e 2 7

3111 16




Identify from the following a ray diagram which has been drawn, to
locate the image formed by a convex lens, in accordance with the laws of

refraction of light :

F \ko P ~J 2F F 0 - 2F

(A) (B)

T&\A' F oF W
. F\\V ;_ .

38. aﬂﬁmﬁﬁﬁP Q, Rwsmmmaﬁ@(ﬁﬁ)ﬁnﬁmé lsﬁﬁ
| aﬁq-m@awﬁazﬂwﬁg@maﬁwmm%? _ =

o
B Q
(© R
D) S
31/1/1 : 17 P.T.O.




Following are fhe sketches drawn by four students P, Q, R and S. Which
 one of them does not illustrate budding in yeast ?

4
: R
@y P
B) Q
© R
D) S

39. faenf¥i =1 +E Tz geweefi # faftm =won &1 Jaw w9 & ag aflen #
fo-@ed =i gui o forw i fu e fort srem B | 3@ fshan <1 @@ A 2

I®D A o@]

@) IL IV, I I
(B) ILIIL IV, I
© 1V, IL, 1L I

®)  OLIV,IL1I

A group of students draw the following figures 1llustrat1ng binary fission
m Amoeba after observing the stages under the m1croscope The correct
sequence of the process is

*

A) IL IV, L I
@ ILOLIV,I
(© IV, ILILI
@ HILIV IL T

31/1/1 Sty . 18
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41.

3111

IR fqenfi™i a, b, ¢ a1 d A A T gFad w1 I Fh wAN: FHEfafad

AN AT | form faeneff 3w s sARr B 2 1
a b c d

A) a

B) b

C) c

D) d

Four students a, b, ¢ and d observed budding and drew the following
diagrams respectively. Who has drawn the correct diagram ?

a» @ ap =

(A) a
B) b
C) ¢
D) d
= wmea qen guEw wfaewt i gt @ R

Hgeh & 3T, foumelt % onmume, el & U@, Tmee & @, foaeht & 1@ |

IR BET K, L, M A" N < GHETd S T Hid 999 S9IH gt § 8§ g8
AT g | e 1
K. u&ft & 9@ qo foaeh & 1@

L. u&ft % q@ qu1 foushelt & ammmg

M. THe® % UG a1 fouswelt % I

N. 9&fl % 9@ a1 e & 3G

T4 Q foraet ouey gEATeT o 991 gE § 7
@A K
B) L
© M
D) N
19 P.T.O.




Given below is a list of homologous and analogous specimens :
forelimbs of frog, forelimbs of lizard, wings of bird, wings of bat, wings of

butterfly.
Four students K, L, M and N while studying analogy selected the
analogous structures from the above list.

K. Wings of bird and butterfly

L. Wings of bird and forelimbs of lizard

M. - Forelimbs of frog and forelimbs of lizard
N.  Wings of bird and forelimbs of frog

Whose selection of analogous structures is correct ?

@ K
B L
© M
M) N

42. sSSP I iR aFTITaITH A TR ]
A)  rafe aig o faeee § A s 2
(B) 3H YHR T I B
(C) T T ah fagg it | Tmn e @
(D) o« # R S @

A student will be able to see the embryo of a gram seed when the dry
gram seed is

(A) soaked in strong salt solution
(B) keptasitis

(C)  soaked in plain water overnight
(D) soaked in oil

31/1/1 20




